et
Rk 314 1H | 2H | 3H | 48 | 5H |68 | 7H | 84 | 98 |10H |11H | 124
X5 @& 133 18.2] 19.3] 25.8| 30.8| 30.6| 32.2| 35.5| 34.6| 29.1| 22.6| 19.8
B | & & -0.3| 0.0 1.2 23| 57| 16.5] 209 21.0| 17.8| 12.4| 47| 2.3
O |¥ ¥ 72| 84| 10.8| 145 19.2| 22.7| 25.6| 37.6 | 25.9| 20.7| 14.3| 10.4
PEr & (mm)| 8.0 20.5| 16.0| 39.5| 59.5| 80.0 | 74.0 [187.0| 39.0 | 86.5| 20.0 | 30.0
M| 5 = | 98.0| 98.6| 98.6| 98.0| 98.6| 99.1| 99.4| 99.1| 98.8| 99.9| 99.9| 98.6
BE | & K| 355 34.7| 31.9| 19.9| 18.3| 36.1| 52.4| 51.9| 49.4| 35.5| 40.2 | 42.4
(%)| - ¥ | 66.4| 69.7| 71.6| 69.0| 71.8| 83.0| 91.2| 89.4| 82.1| 81.0| 72.5| 74.4
J& it 18.0| 20.8| 17.3| 16.3| 9.3 9.7 7.1 3.6 14.0| 17.7] 18.2| 16.2
it 269 31.3| 22.7| 176 13.3| 94| 58| 5.3| 18.4| 27.5| 30.7| 26.9
b @ | 17.0 17.1 98| 6.8 7.0 49| 34| 26| 7.6| 14.3| 20.4| 18.0
sk | 6.1 4.3 5.3 5.1 6.4 5.6 3.9 4.5 5.6 5.5 6.4| 8.8
W 5.2 3.3 5.9 9.1 129 114 106 17.2] 12.2| 48| 4.3| 6.0
] WEE| 1.1 1.8 3.1 50| 5.1 441 96| 87| 3.6| 2.2 1.2 2.4
B #E| 0.3 1.3 1.6 3.0| 4.3 3.3 5.8 3.7| 3.1 2.1 04| 0.9
mEeEl 02| 09| 30| 36| 57| 43| 97| 53| 38| 36| 07| 0.6
[E7] 0.1 1.5 30| 30| 39| 6.2 9.2 741 2.3 1.3 1.0 1.5
MEEl 03] 06| 2.1 4.1 791 85| 69| 16.0| 49| 0.6 1.0 1.0
[Ezie) 1.0| 04| 3.2 3.1 6.7 7.4 79| 14.7| 8.1 1.3 05| 0.8
R VEEEE| 0.8 0.5 1.8 27| 4.2 56| 4.0 2.8 1.3 06| 0.7 1.0
] 05| 05| 0.6 1.2 141 2.1 2.6 1.3 07| 04| 04| 0.4
wEAETE] 1.3 0.8 1.8 1.9 1.2 1.2 1.8]1 06| 06| 07| 05| 0.3
it 78 3.4 2.7 4.0 5.2 2.6 3.2 2.7 1.5 2.5 2.7 1.9 1.7
bdbvE| 16.8 | 11.1| 13.9] 11.2 71| 11.9 741 3.8] 10.3| 13.9| 10.8| 12.3
BE | & 2 1.0 0.9 1.1 1.2 1.0 1.1 1.6 1.0 1.1 08| 0.6 1.2
(%) |52 A |t AL s b db B b b s A A s b Ak s dedb vl ) OB i L Bl o A B o 1 Bl
@ & &= 86| 80| 99| 9.6 721 9.7 10.0| 12.0] 9.9| 11.9]| 8.2| 11.4
m/s)| S ¥ 2.8 28| 28| 26| 22| 24 19| 24| 23| 26| 27| 25
/7%\‘ E% % 1,031.7 |1,030.0 [1,027.4 |1,023.5 (1,021.3 {1,017.7 {1,015.6 |1,016.9 |1,025.4 11,024.7 |1,031.2 |1,029.6
}j—; % 113& 1,003.5 |1,009.0 995.7 998.5 [1,000.6 983.9 997.7 984.2 (1,001.4 994.2 981.2 |1,002.0
(hpa) ¥ i‘")j 1,020.3 11,019.9 [1,014.9 |1,013.8 (1,012.9 {1,007.0 |1,008.2 |1,008.1 |1,013.7 11,014.8 |1,018.1 |1,020.9

FE e - &K ¥ R R

= 15 CIFE m = m[iE B % | &l W m/s|’& = hpa
53 = | % EIC 1 B B B oK) = | B A | P P B ] e S R 3o | e e | B &
35.5 -0.3 38.5 99.9 18.3 25.8 1,031.7 | 1,007.0
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17.4

1,794.0

77.0

2.5

1,014.3




